
 
 
 

Beispielberechnung für die Wahl der stellv. Landräte nach d'Hondt 
(bei 58+1 Stimmberechtigten) 

 
 

Fraktion CDU SPD B 90 / GRÜNE FDP FWG Die Linke 

Mitglieder 26 + 1 13 6 6 5 2 

Teiler  Sitz 
Nr. 

 Sitz 
Nr. 

 Sitz 
Nr.  

 Sitz 
Nr. 

 Sitz 
Nr. 

 Sitz 
Nr. 

1 27 1 13 3 6  6  5  2  

2 13,5 2           

3 9 4           

4 6,75 5           

5             

6             

7             

8             

9             
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11             

12             

13             

14             

 
 


